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1 R3. 4. R3. 5. VX /U< |#HILZE (FaE) JEIT | R (<5.3) T (<6.0) 17| WIBRE L2 v & —
2 R3. 4. R3. 5. v /U< [#HIL% JEE) i | &~ (<4.9) AR (<4.9) A (£5.3) | BEBE e & —
3 4. R3. 4. R3. 5. VX /U~ | 8HLZE ) GHlER (<4.8) T (£4.5) T (<4.9) | IWBEBLE B % —
4 4. R3. 4. R3. 5. e adEEINENERED) EREES (<4.4) T (<5.3) A (<51 [ BB LSS o # —
5 4. R3. 4. R3. 5. DY B oy | R (<4.4) | Pl (<5.4) 8. 1| LRI L 2 —
6 4. R3. 5. R3.6.8 Yx /U < |dH IR (mEE) | B3I | R (<5.1) | Bk (<5.5) 20 Wb oM o 2 —
7 4. R3. 5. R3.6.8 PEP Y [EEAIIER NG HES (<5.8) T (<6.4) 49| IR LT v & —
8 L4, R3. 5. R3.6.8 VX ) U T P IL R Tk (<4.7) R (<5.4) 24| B BULE S # —
4. R3. 5. R3.6.8 VX ) U< | EH L% GAEE) | EWET | R~ (<4.3) THiH (<5.1) 6. 7] IWERE LSS 2 —
4. R3. 5. R3.6.8 PEDE YA EENENGCED) EiIES (<5.1) | Bk (<5.5) L1 R hr o 7 —
4. R3. 5. R3.6.8 DY [ A NEHRT | OR (<4.1) T (<4.8) 9. 1| WEBE LN Z —
L4 R3.5. R3.6.8 VX /) U= AR NELIRES; (<6.2) T (<5.0) A (<5.2) | BB+ o # —
5 R3. 5. R3. 6.8 DEDY i JEE LR FEEm | R (4.9 | A (<£5.9) 9.3| LRI LSS 2 —
R3. 6. R3.7.5 VX /U~ | M= LR | & ER | Rk (<5.0) T (<6.2) 64| ILTERBYLESH B 2 —
R3.6.1 R3.7.5 VX ) U 7~ | 8 H L% G | e | &~ (<4.1) THiH (<4.6) 13| (WEBE L e 2 —
R3. 6.2 R3.7.5 VX /) U= ENEERD) FEJIET [ Ak (<4.5) T (<5.7) T (<5.4) IR IRB b2 o & —
R3. 6.4 R3.7.5 PE Y LE L% KR | Rk (<4.5) T (<5.1) 13| HWIBIRE LSO v & —
R3.6.7 R3.7.5 VX )V T BFEII%R b i | Tk (<4.8) T (<6.1) 11| BRI b0 v & —
R3.6.7 R3.7.5 PE Y LE L% KR [ Rk (<5.5) T (<5.5) 11| LIBRE LSO v & —




